Dualita LP - hledani horniho odhadu

maximalizuj x3 + x» + x3

za podminek x3 — X < 1
x + x3 <1
2X2 — X3 S 1
20 + x3 < 5



Dualita LP - hledani horniho odhadu

maximalizuj x3 + x» + x3
za podminek x3 — X < 1 ‘1
xx + x3 <1 8%
2X2 - x3 < 1 y3
2x0 + x3 < 5 - Ya
yixt + (=y1 +y2 + 2y3 + 2ya)x
+(yo—y3+ya)xs < yi+yr+y3s+5ys



Dualita LP - hledani horniho odhadu

maximalizuj x3 + x» + x3
za podminek x3 — X <1 ‘1 1
xx + x3 < 1 % 0
2X2 - x3 < 1 y3 0
2 + x3 < b 71 1

yixt + (=y1 + y2 +2y3 + 2ya)x
+(y2—y3+ya)x3 < yi+y2+y3+5bys

x1 + x2 4+ x3 < 6



Dualita LP - hledani horniho odhadu

maximalizuj x3 + x» + x3

za podminek x3 — X <1 ‘1 1 1
x + x3 <1 yo 0 4/3
2X2 - x3 < 1 y3 0 1/3
2 + x3 < b - Ya 1 0
yixt + (=y1 +y2 + 2y3 + 2ya)x
+(y2—y3+ya)x3 < yi+y2+y3+5bys
x1 + x2 4+ x3 < 6
xx1 + x + x3 < 8/3
Optimalni feSeni: x; =5/3, xo =2/3, x3 =1/3



Dualita LP - hledani horniho odhadu

maximalizuj x3 + x» + x3

za podminek x3 — X < 1 ‘1
xx + x3 <1 %)
2X2 - x3 < 1 y3
2x0 + x3 < 5 - Ya
yixt + (—=y1 + y2 + 2y3 + 2y1)x2
+(yo—y3+ya)xs < yi+yr+y3s+5ys

Dudlni linearni program:

minimalizuj y1 4+ y2 +y3+5ya

Pro  y1,y2,y3, ¥4 >0
za podminek 1 =1
-+ 2 + 23 + 2y =1
2 — yv3 + ya =1



